

2020 東海大(医) 2B 目(2/3) = $(e-1)\int_0^1 \{1+(e-1)x\}^{\frac{1}{x}} (1+(e-1)x)^{\frac{1}{x}}$

森攝

$$= \frac{5+2\sqrt{6}}{4}$$

□

(1) $0.10_{(2)}$

$$= 1 \times \frac{1}{2} + 0 \times \frac{1}{2^2} + 1 \times \frac{1}{2^3}$$

= $\frac{5}{8} = 0.625$

(2) $\bar{x}(x) = x \log x$
 $\bar{x}(x) = x \bar{x}(x)$

$$= \frac{e^3 - e^3 + \frac{1}{q}}{3} = \frac{-\frac{1}{3}}{3}$$

$$= \frac{2}{q} e^3 + 1 \dots \frac{1}{q}$$

(3)

(式)

$$= \lim_{h \rightarrow 0} \frac{\bar{x}(e^2+h) - \bar{x}(e^2)}{h}$$

$\bar{x}(1) \leftarrow$ 細分の定理

$$= 4 + 5\alpha + \alpha^2 + 3 - \alpha$$

$$= \alpha^2 + 4\alpha + 7$$

$$= (2\alpha^2 + \alpha^2)(2+1)$$

$$= 5\alpha^2 \dots 1$$

$$\therefore \frac{R \geq 3}{+}$$

(式)

$$= \lim_{n \rightarrow \infty} \frac{e-1}{n} \sum_{k=1}^n \left(1 + \frac{k(e-1)}{n}\right) \bar{x}\left(\frac{1+k(e-1)}{n}\right) = (\sqrt{3}-\sqrt{2})^{-2}$$

$$= \frac{1}{5-2\sqrt{6}}$$

(2)

$\bar{x}(x)=0 \Leftrightarrow \bar{x}(x) \text{が左端}$

~ 10000 で左端がある

1.1 ... 1.2 ... \leftarrow 1~99の順番

2.1 ... 2.2 ... \leftarrow 10~99

3.1 ... 3.2 ... \leftarrow 100~999

4.1 ... 4.2 ... \leftarrow 1000~9999

合計は $9+9+90+90 = \frac{198}{4}$

(5)

$$= \frac{9}{4} \tan x + \frac{3}{4} \tan y$$

$$= \frac{9}{4} \tan x + \frac{1}{3 \tan x}$$

$$= \frac{1}{4} (9 \tan x + \frac{1}{\tan x})$$

$$= \frac{1}{4} 2 \sqrt{9 \tan x \cdot \frac{1}{\tan x}}$$

$$= \frac{3}{2} \sqrt{(\text{相加平均}) \times (\text{相乘平均})}$$

(3)

$\bar{x}(x)$ の000次の値は $\frac{1}{9}$

$\bar{x}(x) = 99$ に最も近い自然数

は $\frac{100}{9}$

$\bar{x}(x) = 99$ に最も近い

1.0 ... 1.1 ... \leftarrow 100~1000

0.1 ... 0.2 ... \leftarrow 100~1000

0.0 ... 0.1 ... \leftarrow 100~1000

0.9 ... 1.0 ... \leftarrow 100~1000

0.8 ... 0.9 ... \leftarrow 100~1000

0.7 ... 0.8 ... \leftarrow 100~1000

(1)

$\bar{x}(1964)$

= 1964~46911

= $\frac{1964}{2927}$

合計は $20 \times 8 - 10 = \frac{170}{4}$

$$\begin{aligned}
 & \text{(S)} \\
 & \text{Ax2, Bx1} \\
 & \text{A} \\
 & = P(A) \\
 & = \frac{(k-1)!}{2!(k-4)!} \cdot \left(\frac{2}{5}\right)^{\frac{k}{2}} - \left(\frac{(k-1)(k-2)(k-3)}{4}\right) \cdot \left(\frac{2}{5}\right)^k \\
 & = \frac{(k-1)(k-2)(k-3)}{4} \cdot \left(\frac{2}{5}\right)^k
 \end{aligned}$$